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There are 33 questions this question paper with internal choice. 

SECTION A consists of I6 multiple choice questions carrying I mark cach. 

SECTION B consists of5 short answer questions carrying 2 marks cach. 

SECTION C consists of 7 short answer questions carrying 3 marks cach. 

SECTION D consists of 2 case bascd questions carrying 4 marks each. 

SECTION E consists of 3 long answer questions carTying 5 marks cach. 

All questions are compulsory. 
Use of log tables and calculators is not allowed. 

c) 0.01 M CH;COOH solution 

The following questions are multiple - choice questions with one correct answer. Each question carries 

1 mark. There is no internal choice in this scction. 

Which of the following solutions will have the highest conductivity at 298 K? 

a) 0.1 M H;SO4 solution 

a) Oxidation of primary alcohols 
Which of the following reactions can result in ketones? 

c) Dehydrogenation of tertiary alcohols 

c) 1- Bromopeivity of the The order of 
() CH,CH, -CH-0H 

PRE-BOARD II EXAMINATION (2023-24) 
SUBJECT - CHEMISTRY 

(i) CH,CH,-CH-OH 
CH, 

CLASS XII 

CH, 

(ii) CH,CH,C OH 

features 

Out of the following compounds, which is the most reactive towards B-elimination reaction? 

a) 2-Bromopentane 

tH, 
a) (i) > (ii) > (iii) 
c) (ii) > () > (iii) 

SECTION A 

b) 0.01 M H,SO, solution 

d) 0.1 M CH;CO0H solution 

b) Oxidation of secondary alcohols 

d) Dehydrogenation of primary alcohois 

Date: 
M.M. 70 

b) 2-Bromo-2-methylbutane 
d) 2-Bromo-3-methylbutane 

following alcohols with halogen acids is: 

b) (iüi) > (ii) > (1) 
d) (i) > (ii) > (ii) 

Which of the following statement is incorrect about the collision theory of chemical reaction? 

a) It considers reacting molecules or atoms to be hard spheres and ignores their structural 

b) A number of cffective collisions determine the rate of reaction. 

c) The collision of atoms or molecules possessing suficient threshold energy results into the 

product formation. 
d) Molecules should collide with sufficient threshold cnergy and proper orientation for the 

collision to be effective. 
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Ihe molar conductivity of 
CH:COOl at infinite dilution is 390 Scm²/mo), Usiny the ornnh 

given information, the molar 
conductivity 

ofCli,COOK will be: 

a) 100 Scm² /mol 

a) hemiacetals 

374 

275 

125 

b) 150 Scm /mol 

b) Ti 

3 

b) No turbidity will be observed 

0.1 

Acetone combines with cthylene glycol in dry HCl gas to gencrate 

b) cyclic ketals 

IWhich of the following has the maximum number of unpaired electrons? 

a) Mn" 

4 

a) Turbidity will be observed within five minutes 

b) pks value of ethylamine is lower than benzylamine. 

c) Turbidity will be observed immediately 

HC 

(eMmia 

KO 

Which of the following statements is not correct for amines? 

a) Most alkyl amines are more basic than ammonia solution. 

Glucose reacts with bydroxylaminc to forn an oxime. This confirms the presence of 

a) straight chain ofsix carbon atoms 

c) primary alcoholic group 

d) A is false but R is true. 

0 

c) CH;NHh on reaction with nitrous acid releases NO2 gas. 

if A[NH3/At 2 x 10 molL's, the value of 
b)3 x 0 mol L's! 

a) 1 x 1o mol Ls 

lacvo 

c) 125 Scm² /mol 

03 

c) cyclic acetals 

c) V3* 

d) Hinsberg's reagent reacts with secondary amines to form sulphonamides. 

Which of the following observation is shown by 2-phenyl ethanol with Lucas Reagent? 

d) Turbidity will be observed at room temperature but will disappear after five minutes. 

n. For the reaction N + 3H) ’ 2NH3; 

b) carbonyl group 

Assertion(A): Sucrose is called an invert sugar. 

Assertion (A): Separation of Zr and Hf is diricult. 

d) secondary alcoholic group 

-A[H2]/At would be: 

Given bclow are two statements labclled as Assertion (A) and Reason (R) 

c) 4 x 10 mol L's 

b) BothA and R R are true but R is not the correct explanation of A. 

d) 115 Scm² /noi 

d) acetals 

Select the most appropriate answer from the options given below for question numbers 13 - 16. 

a) Both A and R are true and R is the correct explanation of A. 

Reason (R): Zr and Hf lie in the same group of the periodic table. 
ASsertion(A): Acetic acid does not undergo Haloform reaction. 

Reason(R): Ac 

d) Fet 

d) 6 x 10- mol L's! 

Bonson(R): On hydrolysis, sucrose brings the change in the sign of rotation from dextro (+) to 

I 

1 

1 

1 

1 

1 

c)A is true but Ris false. 

Acetic acid has no alpha hydrogens. 
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